Vraag Antwoord Scores

Exponentiéle functies

15 maximumscore 3

it geeft x=2x 1
« Dus x* =4x 1
+ (Dit geeft x=0 of x=4 dus) de x-codrdinaat van B is 4 1
of

. g geeft x=24/x 1
e (Uit Vx-/x =2x volgt /x=0 of) Vx=2 1
« (Dit geeft x=0 of x=4 dus) de x-codrdinaat van B is 4 1

16 maximumscore 3

.« h(x)=-127 1
M 8 1
c  k(x)= —% 2" 48 (of een gelijkwaardige uitdrukking) 1

17 maximumscore 2

e —3+2log(40) = *log(27) + * log(40) 1
o 2log(273)+ 2 log(40) = 2 log(2 7 -40) = *log(5) (dus p=5) 1
of

« —3+21log(40)= -3+ *log(8-5) = -3+ 2 log(8) + > log(5) 1
« 3+ 71log(8)+ *log(5)=-3+3+%log(5) = *log(5) (dus p=5) 1

HA-1025-a-24-1-c 12 lees verder »»»



